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PRV = \/2cosB-(Dsin6+HcosG)
(ATER B E T EME S » AR —4HEZEEIA)
D=155m H=1423m I3 V = 1.08 m/s
H=1350m WIHV =111 m/s
D=1.65m H=1423m WV =1.15m/s
H=13.50m WV =1.18 m/s
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" Vcos®

V cos36°

B IE A Sy B2 -V, = Vsin @ — gt = Vsin36° — gt

BRI RS ¢ Vi = J (KP4 V cos 360)” + (BEHBRR S £ iV, )

(AR —4HE )
BR st = g LT FIE BRI S Bt 2 S
D=155m | V=1.08m/s | t=1.77s Vy =-16.71 m/s V =16.73 m/s = 60.23 km/hr
V=1.11lm/s | t=1.73s Vy =-16.30 m/s V =16.32 m/s = 58.75 km/hr
D=165m | V=1.15m/s | t=1.77s Vy =-16.67 m/s V =16.70 m/s = 60.12 km/hr
V=1.18m/s | t=1.73s Vy =-16.26 m/s V =16.29 m/s = 58.64 km/hr
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ke kg
1629 m/s | 13032 N ~ 1329.80 kgw 26596.00 2110.79
0.1 # 1632 m/s | 13056 N ~ 1332.24 kgw 26644.80 2114.67
16,70 m/s | 13360 N ~ 1363.27 kgw 27265.40 2163.92
16.73 m/s | 13384 N ~ 1365.71 kgw 27314.20 2167.79
B B R AR TR (B A RETE])
16.29 m/s 1303.2 N ~ 132.98 kgw 2659.60 211.08
1 ¥ 16.32 m/s 1305.6 N ~ 133.22 kgw 2664.48 211.47
16.70 m/s 1336.0 N ~ 136.33 kgw 2726.54 216.39
16.73 m/s 1338.4 N ~ 136.57 kgw 2731.42 216.78
A B EFE 2 X 0.26m X 0.096m = 0.05m?
SRR m?)= | T BRAT
BESCHES 168 25 » 80 AAFF » SRR FIALY 19 m?
RS (55 IEATETRY = TEATEORY = XIRIEETRY = 0.63 m?
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R P 36 & » BT/ E - AIHEREEBEERARBOR -
sin 36° = 0.58779
cos 36° = 0.80902

(2) EEFREEEE 3 ARG  BRERE 1 (AR ) - RISEEREIN S &8
RS THEREAT T - GERHEEE © SRS D)

e 5 6 7 8 9 10 11 12 13

B [ 2 e (m) 15 18 21 24 27 30 33 36 39

AKPREATEERE(m) 1.46 1.60 1.72 1.84 1.95 | 205 | 215 | 224 | 250
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i N\ BB T FE 2 X 0.26m X 0.096m = 0.05m?
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BROZRCEER 168 1293 » 80 AT B ESFYERHEFALY 1.9 m?
IS EETIERTERE = [EREME = 2xWAISHE =0.63 m?
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(1) B ACHITEBEIREEER : 1~ 15 AR/F
ERTTHEIEH - EAREEE 1~ 28 AR/
EINRTLHEBRR 05~ 1.7 AR/FD -
FEBI A B 36 & » BV /KPS - ATHERGEE Bk ERA R -
sin 36° = 0.58779
cos 36° = 0.80902

() EEEEEE 3 ARG  EEERE 1 (AR ) - RIS REIN SR 5
IEA/KFRA TR T« GERTEEHE « SRS D)

e 5 6 7 8 9 10 11 12 13

L I = (m) 15 18 21 24 217 30 33 36 39

KRS T RERE(m) 146 | 1.60 | 1.72 1.84 195 | 205 | 215 | 224 | 250
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